Week 12 Worksheet - Convergence Test of Series

Instructions. Follow the instructions of your TA and do the following problems. You are not
expected to finish all the problems. So take your time! :)
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(b) (from 2015 Final) For which values of x does the Taylor series for 3—t— converges?

(c) For which values of z does the series z e ™ converges?
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3. (Convergence of Taylor Series) f (z) = sinz. Find a bound for |R,, f (z)| and use this to show
that T,, f () — f (z). (in other words, T, f (z) converges to f(z) as n — c0.)
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The following problems are about the Convergence test of Series.

4. Determine whether the following series converge or diverge.
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